1. TANGENT LINES AND RATES OF CHANGE

Basic Concept of secant line:

Tangent line:

y= Yo +tm(x—x,)






















































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































Calculate the slope of tangent?
Example:01

Find the slope of the tangent y = x? at the point (2,4) , if limit exists find the
tangent line? pL'L-m] DM =1 ;Y=Y

\/ (5
48] = 2] =4

Jam= Yt Wt uh

All of these to refer to the same things

T = 4[> -~z N,

1) [he Sll'rﬂ: 'a 3_ 'J.[ y| at » !rr‘ |

2y e doje e g=4t ﬂft‘l.“ PEVELS 220
ha a N.'L. 'n

3) o Tt =+ C'Jmnal! ‘2]. )

4) The detwslive of  F at 7y

M hpLe. tangone

/
wm - - -A'M] ,\‘._-D'lqﬁﬂ\t

hA1 h












































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































Questions:01

Find the equation of the tangent to the curve y = x% + 1; at (2,5)

Sol: PlL:5) oy #a=d j =7 ; M=
R Jmatl] - A1)
f""T.M'}M‘-.— m = V0 ___Tn___,-——
Jz Yyt
!3___ Y (r-3) ’
H"jﬂ = m{m—-"-\ 5 "
. h‘+uh—6
W = 1!:; ﬁ"r/—\:—’_”
_ v ALY
- |t ’)(

Question:02

Find the slope of the equation, if limit exists then find the tangent line

Where g(x) = xxTz ; (3,3)

Sol:

. ﬁo 1 EJ’HJ‘:I rafnu]

e

M = 3 h
h _ 3
A
m o= 5
Lot +h L
M = ha ’[mhi—u
hy = ,.'.lI - -1

'}1.:3)' Hu=3

al. H
o= 2
qy= - =73

‘.l



















































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































fru o Peppdtit .

Y=Y fme-n)
- 4La) i~ 1)

— -

Question:03

Find the slope of the curve at the point indicate

ot 2= -L
H: gf’IJl = E

= t“ F0 % +h) - J(a0)

h

L M(5h-10)
m - ha )(

y=5x?atx =-1

P (-115)
LT -X


































































































































































































































































































































































































































































































































































































































































































































































































































































Question 04: == at x = 0
x+1

g= 2=
7 Lay)
af =D
N = ﬂ
There are two types of tangent slope

A Vertical slope
The vertical slope of the tangent curve at point x= % is
0y < - Jmth) - fa) _ o
o

- ol

2 Horizontal slope:

The horizontal slope of the tangent curve at point x =1.is

o = bt j,m,Lh\ —»}’[ml - D
h48 ' — h B





























































































































































































































































































































































































































































































































































































































































